



姓名: _____

日期: _____ 分数: _____

$$(-2)^2 + 3 =$$

$$2^2 + (-2) =$$

$$(-10)^3 + (-4) =$$

$$(-4)^2 + (-5) =$$

$$(-2)^3 - 6 =$$

$$(-10) - 5 =$$

$$6^3 + 6 =$$

$$1^3 + (-2) =$$

$$(-7)^3 + 3 =$$

$$5^2 + 9 =$$

$$1^2 - 2 =$$

$$5 - 1 =$$

$$(-9)^2 - (-4) =$$

$$(-2)^2 - (-10) =$$

$$(-2)^2 - 7 =$$

$$(-6)^2 - 8 =$$

$$5^2 - 7 =$$

$$8^3 + 3 =$$

$$10^3 + 5 =$$

$$1^0 - 4 =$$



姓名: _____

日期: _____ 分数: _____

$$(-2)^2 + 3 = 7$$

$$2^2 + (-2) = 2$$

$$(-10)^3 + (-4) = (-1004)$$

$$(-4)^2 + (-5) = 11$$

$$(-2)^3 - 6 = (-14)$$

$$(-10) - 5 = (-15)$$

$$6^3 + 6 = 222$$

$$1^3 + (-2) = (-1)$$

$$(-7)^3 + 3 = (-340)$$

$$5^2 + 9 = 34$$

$$1^2 - 2 = (-1)$$

$$5 - 1 = 4$$

$$(-9)^2 - (-4) = 85$$

$$(-2)^2 - (-10) = 14$$

$$(-2)^2 - 7 = (-3)$$

$$(-6)^2 - 8 = 28$$

$$5^2 - 7 = 18$$

$$8^3 + 3 = 515$$

$$10^3 + 5 = 1005$$

$$1^0 - 4 = (-3)$$